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Answer the following questions : (12marks for each )

First question:

A- Fill the circle indicates the correct answer :
1- The total number bones of each upper limb equals..............

(a)15 (b)20 (0) 25 (4)30

2- The progesterone secretion in the fifth month of pregnancy

through.............
@ Corpus luteum @ umbilical cord @placenta @pituitary gland

3- The number of antigen binding sites on IgD antibody equals.............

(2) 2 (b) 4 ©)s (@10
4- The triplet code of stop codon on DNA strand is..................

@ AAA @ AGG @ ACC @ ATT

B- Interpret the reasons which lead to the following cases and mention

important syndromes:

1- Exophthalmic goiter.

2- Ligament rupture .
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3- Irregular menstrual cycle at female in twenty years .

C-Explain the mechanism of the following :

1- Acetylcholine.
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Second question

A-Write the scientific term in the brackets :

1- Small cells are responsible for regulation of glucose in blood.

( )
2- The plants get rid of the infected tissues . ( )

3- One male nucleus fuses with the egg nucleus and second male nucleus
fuses with the two nuclei of the embryo sac .

( )
4- Proteins play an important role in the spatial organization of DNA.
( )

B- Give reason :

1- The alimentary canal consider mixed gland.
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3-The cartilages do not contain blood vessels .

4-The two DNA strands are the same distance from one another .

D- Give the scientific evidence for the following :
1- The genetic code is universal for all organisms .

2- The amount of DNA in the organism do not related to its complexity
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Third question

A- Correct the underlined words . write it only between the brackets.
1- Parathormone hormone preserves sodium level in blood . ( )

2- The digested food transfers from mother blood to embryo blood by
0SMOSIS. ( )

3 The first sequence on DNA strand follows the promoter is ATC.
( )

4-The largest size articulating vertebrae is vertebra number 20. ( )

B- Draw only structure of lyvmph node .

C- A blood sample contains 4000 white blood cells . calculate the mean

of lvmphocytes in this sample .
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D- Explain the relation between cutin and physiological support.

E- Determine the effect of the following hormones on human
mammary glands.

1- Prolactin.

2- Progesterone.

4- Oxytocin.
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Forth question

A- Find the odd word and give reason :

1- ( cerumen - saliva - sweat - histamine ).

2- (Plasmodium - Adiantum- Polypodium - maize plant).

B- How can vou obtain the following ?

1- Tyloses
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2- The largest number of Planaria.

3- Grape fruits larger than their normal size .

C- mRNA molecule has the following sequences:

5 AUG-AUU-UGG-AAU-CCA-UAA Werite :

1- The strand sequence resulted in dealing of last mRNA molecule with

reverse transcriptase enzyme.
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2-The complementary strand sequence with the former strand and mention
the enzyme used in this process .

3- The number of double and triple hydrogen bonds in the former double
helix .

4- Mention a method to clone the former double helix making many
thousand copies in few minutes.
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Fifth question

A- What happens with interpretation :

1- Decrease of relaxin hormone secretion before and during delivery
process.
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B- Compare between :

) 73 gaille 450 N1 4 I Balgdd) - aladl anddll"clad™ claY)
d B BHRCT

1

Plasmid

Nucleosome
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C- Draw only the structure of contracted sarcomere .

D - Determine the chromosomal group (N, ..) in the following :

1 - Cell of honey bee worker.
2 - Zygospore.

3 - Spermatid.

4 - polar body .
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